EARAROBREBRT —5 XN—ZXBISH—F

20224F12838 (£) 6EHRI1H

12R k) A

1ISA T8

EEE=CIEE

20000 R

[~E%] 17%&:7,700,000 § ~ 23:3,100,000 .~ 37 :1,900,000 437%&:1,200,000 5 3&:770,000

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
¢ — = HLLgas, 2:01.1 6-6-8-9 | 35.0 | 94.5 1 436 | REMME (FER)
ROAINZS 3 ES 2
. (=) BB R
RiReSAVFE BNSUES 1 50551
BYUNF LYY 44 Zﬁ%ﬂgA (2:01.3) 10-12-12-10{ 35.0 | 92.4 | 6 | 506 %@kféz =)
: 11/2 g | TEHERE
R:ROSAYF BFATSYR— | smor—i
5V RI—=JLR 3 'JA\QI%* é% % 10-8-8-7 |35.3| 92.5 | 8 | 454 %@%g (ER)
RTPRIVIA BTSYRIAXT L ™ iE
3T 43 | ANEEFE 2:01.5 8-8-1-1 |36.1] 90.5 | 12 | 490 |BEAZEX (EH)
XAFLS—<— 1B 5.0 m o | B 95TLYRIST 5747
RT—IWRY YT B:RARFIFAI EwILy RT7—L
S TS s o3 | ERE 2:01.7 4-4-3-2 |36.3|88.6 | 2 | 508 |mERM (ER)
/{?'jj'/??”fj (‘B] . 56.0 (1 1/4) +22) Zs*mﬁ?:?
RFA—TAVYNT N B:y—7 J=HUTr— 1
= 3 i3 | BB 2:01.8 8-10-10-10 | 35.6 | 87.4 | 11 | 414 |JIGE (FH)

6|11 IJTj JZ“ . — S G/4) o |BHAE o
R:TSvIIALR BELIF—h FrUEFIRT7—L

5 12| @O o6 JEfSESﬂO 2(:01.? 13-13-13-14| 35.3 | 87.4 | 16 | 472 gﬁgé (=8

. A=
A:English Channel &:3¥a1T)LiRwIR2 ESHhI7—L4L
g (+2)
_ i3 | EPE 2:01.9 3-3-55 |36.3| 8.6 | 4 | 40 |XESA @D

] 4 RPN %.0 e () | ) 3%
RFIYYISvI BRFITU—Z= J—HUTr—I

= 4 3 | BREERAK 2:02.0 2-2-3-2 | 36.6| 85.7 | 3 484 | MIFRE (ER)

Y : I3 /7\»37 =5 .{‘\Bﬂ] o 56.0 (1/2) cp | @ BYF-L—vv7
RIN—WISA BRNAIIIRT« J=HUTr—L
= H o4 | ROHEE 2:02.0  [10-10-10-10|35.8 | 85.4 | 9 | 468 |=fH (FEH)

10/5(9|7-#—YOX %56.0 o) Gy | dEAE
RiJITURN B:LAVIVR #HBT7—L

1lglis| Ph/xYIRY Ho4 | BEES (2:02.2) 15-15-13-14( 35.7 | 83.4 | 5 | 484 %ﬁﬁ% E®)
. 11/4 _ 8
RN-VISA B I—TWRFS R e P
= i 3 | SHER 2:02.2 6-6-6-7 |36.2| 83.6 | 7 | 440 |EAESL ()

273 NAERAT AL 510 ) o | @ HBL=2m—2

RiF4—=TAVNT~ B:I7—R5T #HEI77—LA
~ 4 3 | FRE 2:02.2 4-4-7-6 | 36.3| 83.6 | 14 | 458 | SMRN (W)
1Y bo—oY 54.0 o0 " | BEaiEs

] RiFIYUTSwvT B:RAXNIVIII (-2 7S5 RIS

= 4 5 | KBXGEH 2:02.4 15-15-16-13| 36.0 | 81.5 | 13 472 | FHE &R

14510/ 7474375 *53.0 3/4) EHI0N

RFA—FAVINT N BHATAIUAY b 16 | yrrngin
= = st 4 | RAULAEE 2:02.6 1-1-2-2 [37.1]80.3 | 10 | 490 |BE—% (FER)

1 3 A 4.0 (1172 (o) |RUZE
RiRXFIZYF—R B:TFYRA [EeEtres

1618116 SFTERTTAR GO A 2:(03).1 13-13-13-14/36.6 | 75.1 | 15 | 454 5557%(63(%?

- . 3 _ —3
R:FIYUITSvT B:IIN—TIIRFvIR (-6) FoIEFIRT7— 1

[ BN

En'w 47.7-35.7

NOYFA L | 12.5-10.6-12.5-13.3-13.0-11.5-12.0-11.3-12.0-12.4

@ 11— —B&IEfI

10—+— 5,6,7-(11,14) 3,13) (1,4) (2,9,8)-(12,16)-(10,15)

20—7F— 5,6,7(11,14) (3,13) (4,8) (1,9)2-(12,16)-(10,15)

30—7— 4-5(6,14)7,13,11(3,8) (1,9)2(15,12,16) 10

Mal=5r= (x4,5,6,14)7,11(13,8)3(1,2,9)10(15,12,16)

o ILRE

BB 3 201 | [ 94K 2-3 740/ e B 1-2 1,430 3EE 2-3-8 8,830M

B B 3 140/ 3-8 710 5 E 2-3 1,840 3EH 3-2-8 28,6504

2 260/ 2-8 3,430 =51 3-2 2,920
8 500

ABIC OV TRUTEREERRODDZE. THRIIZEL.




